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PROBLEMAS DE TRIGONOMETRÍA 

Problema 126: 

Resolver un triángulo rectángulo, conociendo c= 15,92 m y: 

𝑏

𝑎
=

47

110
 

Solución Problema 126:  

Hacemos el croquis: 

 

 

Sabemos que: 

𝑏

𝑎
=

47

110
 

cos C =  
b

𝑎
 

C = 𝑎𝑟𝑐cos 
b

𝑎
=  𝑎𝑟𝑐cos

47

110
=  𝑎𝑟𝑐cos 0,427 = 64º, 705 = 64º42´18´´ 

B = 90 − C = 90º − 64º, 705 = 25º, 295 = 25º 17´42´´ 

sen C =  
c

𝑎
 

𝑎 =  
c

sen C
=  

15,92

sen 64º, 705
=  

15,92

0,904
= 17,61 𝑚 

𝑏

𝑎
=

47

110
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b =
47𝑎

110
=

47 · 17,61

110
= 7,524 𝑚  

 

 

 

 

 

 

 

 


